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No. £ Al EFi a4 FIEE TH | F=2(g)
2% 86 ik A FLIET NSy AR A 5 5 6,668
EZR 40 A i =g [ RKER 7 5 6,492
3L 36 XA #B= FLIET KEA 2 5 6,352
A1 58 I X2 FLIET KEh 11 5 6,344
54 29 Al ®8 = (BER 10 5 6,330
641 39 $3K 8 FLIR HiER 7 5 6,302
741 01 MHEH &% =B KEH 10 5 6,268
841 77 =i KE FLIET KiEH 3 5 6,170
91 87 AR 2z FLIET HER 1 5 6,140
10432 32 RE miE FLIET NSy ARY A 4 5 6,112
1142 05 ERIES FTEh KEH 8 5 6,094
124 90 EARE & FLIET 7K HL 5 5 6,036
1342 12 W R EEET (&= 2 5 6,012
14451 70 wmy X = [EEA 8 5 5,996
1541 74 mlll —%x L G (Y ¥ 9 5 5,948
1643 76 = gE= = [fEER 7 5 5,936
1742 13 ZH BE FLIET HiEA 2 5 5,894
1843 72 AKX F=H =k (BIER 8 5 5,868
1941 84 WA FEE TEh BEEN 9 5 5,740
2011 44 INGR A B2RRT  |[Lvbh 8 5 5,728
2141 37 Eil M =NET fEER 8 5 5,694
2241 18 E - J\EHRT BEEN 7 5 5,682
2341 88 B #X FLIET NSy ARY A 7 5 5,650
2441 50 EX 8l FLIET HER 5 5 5,632
2541 80 0O BEA L G eV ARY A 10 5 5,614
2641 19 RH EBERE FLIET BEEL 1 5 5,464
2741 102 HfE HR— FLIET 7K HL 3 5 5,396
2841 79 £ M= BRRM |XEA 1 5 5,334
2941 59 HE EF® =k u) Ll 6 5 5,310
301z 95 kg =R =g [RKER 9 5 5,308
3141 23 XA FE L ERET 7K HL 1 5 5,302




3241 46 BE[E IEF0 =g (#ER 10 5 5,240
331 81 WE A EEA] 7K 6 5 5,230
3441 69 KE =k [BER 9 5 5,228
351 75 o BEEET 7k 11 5 5,160
361 38 R’AR EE FLIET NSy ARY A 8 5 5,088
3741 28 =2H B'F BEEM e 9 5 5,068
3843 20 EH # FLIET KiEA 11 5 5,014
3941 94 i =5 ERRT |BEL 4 5 5,000
4041 42 FH BX = [EERA 5 5 4,978
4141 07 FEE xXth TR [LWbh 1 5 4,940
4241 26 e A TEh KEH 5 5 4,922
434iL 11 EER 1B FTEh KEh 7 5 4910
4441 02 ERK BE [E/MEH |BfEL 5 5 4,892
4541 54 A B FLIET 7K FL 2 5 4,880
464 56 HH BEZ FLIET Lbhi 2 5 4,880
4741 04 AH B BEEM 7K HL 4 5 4,870
4841 68 Tk BE &I Lbhi 7 5 4,860
494 64 & Fi8H H S HT HER 4 5 4,854
50431 67 Ee =M =NET fEER 5 5 4,852
5143 48 HE E EEh HER 6 5 4,832
52431 82 =t #H=: FLIET NSy ARY A 1 5 4,800
534 24 BHE B8 [fLIEH HiEH 1 5 4,798
54431 66 = fii— FLIET BER 11 5 4778
551 65 BE TE FLIET KEh 1 5 4,772
564 100 B &FE BEEET KiEH 10 5 4,756
5741 47 INER B |ERT HiEA 7 5 4,754
58431 27 B OB FLIET KEH 4 5 4,746
5941 09 Hk B FLIET HER 3 5 4,744
601:% 10 EM H= JBJITH BEEL 4 5 4,734
614 43 £ &% ERRM _|fEBEA 2 5 4,718
6241 62 MR F— FEH HiEA 6 5 4,702
631L 17 i 2 ] TEh BHiEA 3 5 4,664
6441 31 HE = FLIET BEEL 7 5 4,640
6541 30 Hd B = (BER 3 5 4612
661 53 R HX FLIET ey ARY A 3 5 4,602
6741 92 %k =ik a¥H KiEH 6 5 4,596
684L 49 S FLIET BExRi 6 5 4,564
6941 16 BRI N3 FLIET Lbhi 4 5 4,552
704% 63 FER #E— FEH 7K H 9 5 4,550
4L 14 AR £ J\EHT BEEL 9 5 4,540
7241 55 HKE = FLIET KiEA 8 5 4,486
7341 52 BH e FLIET B 11 5 4472
7441 83 HE AR FLIET iR 8 5 4,406
7541 89 il #BR= [FLIEH fEsEhR 10 5 4392
7641 33 Ty #F FLIET ey ARY A 2 5 4,376
7741 61 WH BX =NEH [HER 8 5 4,326
78431 78 b4t IR FLIET 7K HL 10 5 4,232
7941 60 Ml 85X IMBTH KEh 3 5 4,208
801:L 99 B Ef EfET NSy ARY A 9 5 4,206
8141 34 ¥ & FLIETH BEEAN 2 5 4,184
8211 15 a2H ¥ EfET HER 2 5 4176
831 7 BI B = [BER 4 5 4172
8441 91 ® #®E FLIET 7K HL 7 5 4,086
851 101 NI FEF] FLR NSV ARYH 6 5 4,056
861z 41 TH #th EHZE (LA 3 5 4,028
874 45 INRR EZ TEh Lbhi 10 5 3972
88131 06 &8 Mz =k (BIER 5 5 3,970
8941 08 EO BER vl KiEH 5 5 3,950
9041 103 Kith R FLIET KEH 2 5 3,942
9141 25 BE ## EEH e 4 5 3,826
9241 73 XE J FEh HER 9 4 3,758
93431 03 AA BN =B ExRi 3 5 3,742
94431 97 L ZE BEET fEsEhR 1 5 3,722
95431 57 =iE - FLIET 1Ip &R 8 5 3,600
96431 93 Bl AH TEh e 3 5 3,582
974 98 mH #FE TEh R 1 5 3,444
98431 51 Tk BE FLIET Lbhi 5 5 3,076
99431 96 =& EA FLIET iR 10 5 2,660
1004z 35 £H EF— LRI BEEL 10 5 2,462
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